RATING POINTEH
ISARNE+ (SRAFHEBY—Lx8. 4)+ (BYFHIUEXS. 3)— (A3 —t T EX2)

QB RATING JE <

HigH 10ELUE/HE>

(R NERL)

g6z |Favy| KER | BS EFL e | SR RDh#k| INT | YDS| TD |LoNG|miZh=E| RATING
1l 71 BiEH 1 | BT 3 127 77 6| 1143 11| 52| 60.6 155. 4
2[ T BB K 4 |BEX B 2 157 101 4 1204 10| 44| 64.3 144.7
3 T SREUK 8 |[hEE &N 1 74 44 4| 516 3[ 72| 59.5 120.6
4o T BEEX 1 |@EE 7R 3 143 74 6| 743 5( 65| 51.7 98.5
5 T THK 3 |E® EE 3 135 1Al 10| 801 4 37| 52.6 97.4
6| T AKX | 11 |k Bz 4 189 103 8| 1035 3[ 57| 54.5 97.3
1T PPN o |BE £E 2 96 51 10| 439 4 30| 53.1 84.5

HIhEE <BEH 10EXFH HAE>

Bz [Frvy| X¥E | BS EF4 24 |SRiIE%]eEThE] INT [ YDS| TD |LoNG|miZhEE| RATING
1l 71 EPN 8 |mgE #E 4 32 23 o 183 1l 21| 71.9 130.2
A BEKX | 12 |88 & 4 37 18 [ 127 o 54| 48.6 61.3
3T ZRA | 11 |52tk &% 4 31 16 4 225 1| 33 51.6 97. 4
4 T EBA EREES 3 23 12 1| 143 1] 38| 52.2 110. 1
5] T EEEPN 6 |[tB #&& 1 19 7 3 99 of 22| 36.8 49.0
6| T FBRA [ 12 [BX BE 3 7 4 of 49 2] 17 571 210. 2
6| T BiA 8 [|Ef1 EA 2 9 4 of 34 1 16] 44.4 112.8
6| T BAK 8 [#x Xx& 1 7 4 of 29 of  13] 57.1 91.9
o T BAK | 15 (M B 4 9 2 1 12 0 7| 22.2 11.2
0] 71 BiEE | 81 |[HE BEZF 4 1 1 of 37 1] 37/100.0 | 740.8
0] 7T BEX | 13 |[fE H&E 4 1 1 0 4 1 4[100.0 | 463.6
0] T BEX | 92 |[ARA KX 1 1 1 of 22 o 22]100.0 | 284.8
0] 71 EIZPN 4 |h¥ == 2 2 1 0 3 0 3] 50.0 62.6
0] 1 BEX | 95 |[KaR & 1 2 1 of -4 o 4] 50.0 33.2
15 T AAX | 15 |AS A 4 1 0 0 0 0 0| 0.0 0.0
15 T BfRA 12 &8 & 2 1 0 1 0 0 0| 0.0 -200.0




